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Final Year B.Com. Degree Examination, August/September 2008
Directorate of Correspondence Course
BUSINESS STATISTICS

Time: 3 Hours - e : o« Max. Marks : 70
" PART - A
WERN— &
Answer any FIVE questions. 2 Marks ﬂ’af}l, : (2x5=10 Marks)
WRPR T B I, grien wozdn. 3w Z/woﬁrh;b\.
I. Distinguish between Classificat t{n bul tlon
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. State the important reqmsl}é{)}
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. Distinguish between p/ensufv/ and smnﬁhﬁ‘grk ethod fS*
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. Explain the rmportance of Spcannan,s Rank Con'elatlon

ieelopvdeinied mvmmmmw

. What is harmonic mean ? State its uses.

HEDTR FAS SoBdemh 9 wod waﬁo&meﬁﬁ#a’n 39,

- State the various measures of dispersion,

A0 Lo esﬁéﬁda@{ 3950,

- Name the sources of collecting secondary data.
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- How do you interpret the coefficient of correlation ?
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Answer any THREE questions. 10 Marks each. (2x10=20)

IR TRTE Tanth BINOA wo3on. 3o 10 Bosrith.

9. Define time series. Discuss briefly components of time series.
T, crdobdy mIR AR, HOF erdod A5T RO BRIy WodTawwn wedr 2.

10. Define statistics : Explain its function and limitations.
RomRWRTD DL, BoTRTIRZ uao#r“@& BB DSOR.

1 1. Calculate Karl Pearson's Coefficie of Skc
R S d:-.saoz}aocs T m:bd

Income in Rs. 7 § No. _
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" 600 TR
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" 700 200
‘ 800 262
" 900 320
" ' 1000 374

" 1100 394

. 1200 400
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12. Calculate the cost of living index number from the following table for the year
1982 with 1980 as the base year.
34 fvdon Tesod NAoDOOT 1980 &b weed Srrmon qenfoomd 1982 § wes3 |
R, 08T zfoabaoaobab

Items Unit Qtyin " Pricein-  Pricein

1970 e e

o e 1972 1970 .
Rs. Rs.
Rice Kg 40 kgs ~ 4.00 2.00
Wheat Kg 100 kés x - 2.20 1.20
Oil " 20/kgs % .00 4.00

PR ,
Ghee " N - 28.00 16.00
g
Sugar " %._ 0 2.00
Cloth metre - 30 meters . \ 4.00
I3 1.:;3»« (5)
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13. Calculate Karl Pearsan coyfﬁcwnt o? correlation fo f\e\lowmg data,

5 8913 cssaoasrmgcs et 0ot 00 A@Rone b dabﬁo:saaoaooaa

Maths: 50 54 56 59 &.(dd 61 65 67\ 71 74 74

Statistics: 22 25 34 28 26 30 32 30 28 34 36 40

PART - C
ORI -4

Answer any TWO questions. 15 Marks each, = =~ - (15x2=30)
SRt dde oSt T 5, 3nen sudor. 3w 15 wownich.

14. Distinguish between primary and secondary data. Explain the defcrent methods .
of collecting primary data.
R, FnE TR DR, B 8eoDd HWRAENTH gaaﬁﬁda‘o 3OXD. TR, PWE WIIZ,
wor, BoRoss .z):az;s &)@ddds&: DITWOX.



DCC - 260 4

-

15. Following are the marks obtained by- 100 Stud_ent_s m 'Sta_tistiCS and in

Accountancy

100 T G)Fr'iv:b ﬁom TR, T SETREY ﬁ@hdad WoBnisb 81 $¥BoBEodd.

Calculatc ﬁod:ﬁg&maﬁ

a) 2 Regression co-efficient
2T BB, b R0, RV

b} 2 Regression lines
DTG ARG, 0 Bessriva, fﬁ\: .
¢) Correlation co-efficient based on )'égres jon co-efficients
FRRY, b o, egrid ﬁaﬁaaﬂa&od/ﬁﬁﬁopodd@

Marks in
Statistics

15-25 s/ 9,» =

20-30 39/49’ // 40-50 |, 6070

/ NP
2535 -/ f 0 25 2 N %
3545 A4 T . 2 — N
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5565 - - -4

Total 5 20 44 24

Total
17

100

16. From the following table find out the number of workers earning wages between

Rs. 25 and Rs. 35.

81 §¥30R deraerdom d. 25 &D:Swa Eﬁ%ﬁ Udc‘; dra 35 go:%&r‘ Rk 80® ﬁ@xbﬁ
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Wages in Rs.
840 TR.VY,

10-20
20-30
30-40
40-50
50-60

60-70

Commodities =/ 200§/ EXAM
Hregrnise Priyé / Value

5.
No. of worke‘rs
fomirmos Hosy
50
100
150

200
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T A\

A S/ ) | &b 2008 5 OB
B 15 1350 18 2700
C 18 720 20 1200
D 6 150 7 280
E 14 700 16 960




